Supplementary Table 6. 87Sr/86Sr and 143Nd/144Nd data of representative samples in the Sarduiyeh granitoid.
	Sample 
	Rb ppm
	Sr    ppm
	87Rb/86Sr
	87Sr/86Sr 
measured
	±2s.e.
	(87Sr/86Sr)i
 
	±2s.e.
	143Nd/144Nd measured
	±2se
	Sm
ppm
	Nd
ppm
	147Sm/144Nd
	(143Nd/144Nd)i
	±2s.e.
	ɛNd
	TDM(Ma)

	BA6
	31
	314
	0.283
	0.705001
	0.000009
	0.704889
	0.000020
	0.512838
	0.000006
	3.2
	12.2
	0.159
	0.512809
	0.000012
	4.04
	664.03

	BA-43
	40
	315
	0.368
	0.705105
	0.000008
	0.704959
	0.000019
	0.512838
	0.000005
	4.2
	15.5
	0.165
	0.512808
	0.000010
	4.01
	738.56

	BA-50
	41
	322
	0.371
	0.704925
	0.000006
	0.704778
	0.000015
	0.512813
	0.000005
	3.1
	12.4
	0.150
	0.512786
	0.000011
	3.58
	639.44

	BA-53
	42
	265
	0.456
	0.704939
	0.000007
	0.704758
	0.000018
	0.512834
	0.000005
	3.0
	12.5
	0.147
	0.512807
	0.00001
	4.00
	570.08

	BA-60
	61
	209
	0.842
	0.705066
	0.000006
	0.704732
	0.000018
	0.512825
	0.000012
	3.6
	15.5
	0.139
	0.512800
	0.000025
	3.85
	533.10

	CHA-5
	109
	270
	1.168
	0.705221
	0.000007
	0.704757
	0.000023
	0.512825
	0.000008
	1.8
	7.8
	0.141
	0.512799
	0.000017
	3.85
	542.65

	CHA-6
	7
	282
	0.068
	0.704778
	0.000007
	0.704751
	0.000014
	0.512812
	0.000006
	3.9
	15.7
	0.149
	0.512785
	0.000013
	3.56
	634.87

	CHA-10
	57
	212
	0.777
	0.704985
	0.000008
	0.704677
	0.000022
	0.512811
	0.000008
	1.8
	7.7
	0.138
	0.512786
	0.000016
	3.58
	551.38

	KA-25
	25
	321
	0.225
	0.704745
	0.000008
	0.704656
	0.000017
	0.512802
	0.000004
	3.0
	14.3
	0.125
	0.512779
	0.000008
	3.46
	489.64

	KA-31
	31
	341
	0.264
	0.704710
	0.000008
	0.704605
	0.000018
	0.512809
	0.000007
	2.6
	11.3
	0.141
	0.512783
	0.000015
	3.54
	572.67

	CKA-8
	22
	212
	0.300
	0.705117
	0.000008
	0.704998
	0.000018
	0.512795
	0.000005
	1.7
	9.6
	0.107
	0.512775
	0.000011
	3.40
	425.29


 
[bookmark: _GoBack]2se: two standard error of the mean; 2SD: two standard deviation; i: initial isotopic values. Chondrite uniform reservoir (CHUR) values of 147Sm/144Nd=0.1967, 143Nd/144Nd=0.512638 are used for calculation. TNdDM= 1/λ ln [((143Nd/144Nd) sample-0.51315)/ ((147Sm/144Nd) sample-0.2137+1] and ԐNd (T) = (((143Nd/144Nd) sample/ (143Nd/144Nd)TCHUR)-1)×10,000). 

